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SIXTEENTH NOTES

ON THE NOTE & Strategy:

REST TREE

The note & rest tree can be
expanded to include sixteenth
notes. Four sixteenth notes
equal one count.

Example:

Each sixteenth note gets 1/4
count. There are four sixteenth

= one count,  Example:

1. Look carefully at the note & rest tree.
2. Fill in the missing parts by drawing the missing

note or rest.

note groups in each measure of Ztime.

Sppplrppiprplapy

NOTE & REST TREE

NAME NOTE COUNTS REST
Whole o -
Half J J - -
Quarter J J J J 1 } X X 3
Bsth | JT T3 T DD« 1Y Y Y TY Y9
sieenth | IRNTRRTZIN % |s997999999997994
NAME NOTE COUNTS REST
Whole ° 4 d
Half J -
Quarter J J J 1 13 } ¥
Eighth ﬂ ﬂ > ! T 9 Y Y
sweenth | T3 JI M % |s93999999994
CHECK-UP:
1. The note & rest tree now has 5 types of notes and rests. Name them:

1 2 3 4 5
2. sixteenth notes ( N) equal one count,
3. There are sixteenth note groups ( m ) in each measure of 2

time. :

4. A quarter note (J ) equals

sixteenth notes.
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